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2 9,!- State Thevenin's theorem.

3 ?}.« What arc poles & zeros?

‘ Q.3 Define Q - factor for the series resonant cirgyiy.
Q.4 Define Power Fuctor.

10:5 State Tellegen's theorem.
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: g Write down the I:..r:-m'lﬂ"- Laows ﬂﬂ +

““._.ppﬂ"'

1!:}} Define vorltage rransier ratier with reference |
QN Dl,'_-ﬂnln- h = parameters.
QY Why nt Power?
do you mcan by Appiare . ollowi
mr#‘ .:hﬁ .‘- -
Q;jﬁ A vollage of 220V is applied across a 1000 W heatel

-
(i} Resistance of henter

(ii) Current supplied

— (ions) [s.“‘_“‘
Attempt any five questiofns

:'}:_,],.f Explain the concept of Duality. Use mesh analysis 10 find

S shownin fig 1.1~ ersahilkagyan.com
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Pc wein the circus of
- hoorcin. ingt inciple of turu'l"l.'""“""“ find v in 'y
o late su rposition | Using he princ | -

Fig 2. -

Fig 2.1

241 resistor uning Ihevenin's thesorem i fig V1 Venly the resall by

UJ - =
=2 Find the current in

1 0
Norton's theorem - hittp://www rtuonline.com 110)

1]
-

Hig A1

U4 Determune the Founcr senes for the square waveform shown helow and phot the

"I
magniude & the phase spevtra - (6+2+2210]

]
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?,'a The aeries RL circuit shown in fig 5.1 i excited by o DC voltage of 50 V, Axsug,

i . .
G nitial Cufrent Mowing through the inductor 1o he SA and find the curmeny T i“”.'i
; - |

Use Laplace method -
[ty

Fig 5.1

Q.6 What is the driving point and transfer impedance of the network shown in fg 6.1 1y

. 1H IH
11 ='ﬂ'

IF IR

Fig 6.1
Q7 A 240V, 100 Hz AC source supplies a series RLC circuit consisting of n capacitor sd
1' a coil. If the coil has 55 mf) resistance und 7 mH inductance. Calculate -  [2x3sl0|
Sj) The value of the capacitor at 100 Hz resonance frequency
(i) The Q - fuctor
(iii) The hay power frequencies of the circuit
(iv) Input current al resonance

(v) Maximum instantaneous energy stored in the inductor

-y
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Q.1 (@ uUsi i >
g sing the source transformation, find the cyrrent throv8? i

L infig 1.1 -

Fig 1.1

: nd W
(b) Use nodal analysis to detcrmine V: and power being supplied bY the depe

“Z- current source in the circuit shown in fig 1.2 -

Elgé 00

0.01V,

Fig 1.2
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Fig 2.1
Q3 @~ Determine the Fourier series of the repetitive waveform of Fig 3.1 [14)

’5 (i) UplnlhtT*hlrmnnicwhenﬂur:peﬁliuntimT=15!tuu.

(i) Determine the fundamental frequency current in the circuit of fig 3.1 gy

where, R = 15Q & L = 0.0438 H with voltage transform as in fig 3.1 (a)-
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(b) The voltage V, (1) = 5™ u(1) volt iS applied 1o the input of RC circuit shown in fig

3.1 (c). Determine the 1 - ﬂtn:rgy available a the filter output - (6]

VoD

1 ..
CE;F.WImnm:muvﬂlule IS given as —
(a) Ramp voliage 12r (1 -2) and

(b) Step voltage 3u (t - 3). Assume that the circuit is initially relaxed.

(®) The response nflnﬂwntmanimpululi h(t) = 0.18( e 232t _

e” 217 Find

the response of the network to a step function using the convolution theorem. (8]

95’9] Write a short note on types of Filters. [10)
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{h} Determine Z — parameter &Y

5.1-

i

partly,

{

AR, 10 i .
™ %w, %ﬂl vV, pant2
S T
4

Fig 5.1

Parameter of the following circuit shown in g

(10



